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One master maintains, ‘your piling’, but not the gentile’s piling

Overview

The X3 cites a NP2 whether MWynRn ¥°p5a% 191 2"0YY 11p W (the view of R'")
or "1 X (the view of 7127. The X3 explains that they argue how to understand the
word 7137 (as in J1A7 Wwyn). X"7 understand it literally (grain); only your grain
(which grows in the s">R W field) is liable for “wyn, but not 2"y 137, while 1729
understands 737 to mean 737 (piling up of the grain) therefore 7137 comes only to
exclude 2"y 1307, but not 2"12y 737. There is a dispute between >"¥1 and MdOIN as
how to understand the NP7 between 7271 X"A.

- NY9I NNA NAT ¥RWN ‘090990 WIS TInmn
From the content of s'>''w9 explanation it seems the one (7°3p ¥ or 7P 1X) is

dependent on the other (71 121 M7 or VW RY) -
= ©%3999 T2IY 1T KDY TINT YW 3P PPN 9INT Na9HY

That according to ;729 who maintains 1217 PR, for he expound 919357 (not 7137) to

exclude 3951 133%7 only, but not 721 137 -
= 9119 021919 TAIYN NIV NY SN

He will maintain that 5921 71932 exempts from wyn -
- ©52919 72 P KDY 1INT WIIT 1939 W AINT YN 2299

And according to X''%, who maintains Pi1p 2> because he expounds '7137' to

exclude 521 337 -
- 3‘1\71ﬁ 1N 02995 12IYN NINT ND NN

He will therefore maintain that 921 79°% does not exempt from nmwyn.

moon asks on >"wIo:
— %2915 12)¥N NN IPHNI DININ NPT NYP)
And this is difficult to accept for many 2°X1n argue whether %951 M9 is 70 or not -
- 199 PN 137 WA 1PYN) 393 DININ DN Y3 )9 ON)

! This refers to the act of piling up the grain into a smooth pile.

290307 7"72 2"wA writes, "OXY TID D221 T MM WYAR JNIRDR M KIIW MR AYWA W@ T 020 T AN DR
N? 0°2010 72 7°2 "R YPIPT WY P00 100 1212w PRI IR 092013 72w YRR 127747 R DaR 1712w YRR R
anWYTR AYpoYI. See 7w 0"1an that *"wA should have just concluded w7 8 7337 %2R, w"».

? There is only one v¥ to exclude a >33, the word 7137; which may be read simply as 137 (grain) or it may be read
as 7137 (see later in this M»doIN, meaning M) If we read it as 137 it excludes the grain of a 731, hence 11p v, but it
cannot exclude *151 m1°n (if the land belongs to a P8 Ww?; if, however, we read it 37 (meaning M7°») it exempts M
721 (even if the land belongs to a X7w°), but it does not exclude the land of a >733 (if the m7» is done by a HRw”).
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So therefore it will turn out (according to *"w79) that all those 2°8in will also
argue whether 117 w° or 7P PR

- “Na1 1790 991 NONYOa IPYNI ATYHN 229 NAT PNITIND
And this is a difficulty to say that R''=y 1729 are arguing in the dispute of all

these 29810 —

An additional question on >"w15:
= (x,10 97) INYNIYI 529 PI92 NN ¥NRYNT TV

And furthermore it seems in Ny71% NO07 in >''9 P9D -
= £52595 72191 NI 29NNT NI 1PPANY 02919 T2IY PN NDY 7T YWY NI 11191

That all the 25810 (both those that maintain 219 *321 M and those that maintain
Tu1D X)) expound TIXT to mean 2P AT XYY 71397 and even the one who

obligates 921 199 in qwwn -
— 5525173 7337 5917 VI NN VIYNA YIITT KIN

However that X1n, who maintains 2°°17 *731 13°7, expounds ‘an exclusion after an
exclusion’,’ for 7337 is written twice’ —

mooIn offers his interpretation:
= N1YY 99195 1NN 9TYHN 2399 N29T NINI) ToY

Therefore it appears to '01n that R''9Y 729 can work out according to everyone,

whether we maintain 29 321 M) or not -
- 8‘[3‘\2021‘\ 255 XYY 7207 291571 02919 T2 PH*T NDY T3IT TYIN 224 993 VI

And 8''1 also expounds 2'"15¥ 1°7 K9 9394°7 (to exclude 121 M) even though

he expounds 0"y 137 X7 7327, since it written 72337 and it is not written Tnxan;

the 7710 could have written XN -
= £525)9 72y NNIAN XD THNIAN 33 9V 13PWHT NN THNIAN 29ND M INT

* If we assume like *"w that the question of "1 W or 1P X is inextricably tied to the issue whether or not *131 117"»
qv1, it would then turn out that those 0°Xin who argue whether 7019 121 M1 also argue whether 11p W or PIp T'X,
so why do X"71 1727 make (what seems) a new np12nn whether 1717 w° or 1°Ip X, they each could have respectively
said that the agree with those 2°Xin that maintain their respective opinions?!

> See *"w1 there oni "7 that the word 7137 regarding wyn is written (at least) twice, once in 1,2’ (;7x7) 0127 [ 210 X7
TIT WYA TR PIRY], and 33,70 oW (137 IWYH "N 197 n9ORY). See ‘Thinking it over’.

® The word 7337 is an exclusion; your 737, but not the 737 of a 7121. However when an exclusion is written twice we
say N129% RO LW IR VWM PR, that it comes to include, so in this case it comes to include *331 (M) N*7 instead
of excluding it.

"It is apparent that the two concepts of 137 &> and 717 are not interdependent; one can maintain either 1P ¥ or PX
1P and nevertheless maintain 7331 7" is V1 or not. This is not like >"w7 who makes them dependent on each
other.

¥ If the 770 would have merely wanted to exclude *121 nX1an but not 121 M7», the 70 could have written XN
(instead of 7337), the fact that 7237 was written, indicates that we can make two nYWA7 one for »131 137 821 7337 and the
other for ™31 1377 K91 7.
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For if 9nR12n were written we would have also correctly expounded it to mean
7nx1an (of a 5xw°), but not’ a'15y nxYan -

mooIn responds to an anticipated difficulty:lo
- NOTAA 79357 2515 KU1 23919 121 10T NI TINT 333 WIIT IPN Y

But nevertheless we also expound 7137 to mean 2'"12¥ 137 K91 7357, since it is not
written 72137 explicitly —

MooIN asks:
= 051915 72)¥N NI 2A»NNT 1N)25 739927 22) 1PUHTT 2221 2 9NN ON)

And if you will say, according to the one who obligates 321 m19°%, so just as we

expound T257 which is written twice to be 121 M7 217, since -
= T 222 WINTY 9193 991 MY NINR VIV INN VIVIN PN

mMa7% RHR W NN vwn PR, we should similarly expound regarding 7357
(which excludes »21 nX1aN) and say M27% KR VIV MR VYA PR and °121 NR1AN should be 21 —

N1B0IN answers:
£5957 7595 VIYN INR VIYIN IDPING 1AND KT 9129 U

And one can say that it is not logical to assume that we should establish the rule

of vy R vy for all aspects of this w7 (both for 137 and for 173°7) it is sufficient that
we apply it to only one w17 (of 37)."2

Summary
According to (Mmoo understanding of) *"wA, the two 2>711%°% of 7137 and 137 are

mutually exclusive, however according to moown both 2>11%°% are applied since the
70 did not write RN or 137, The concept of M27% ROR VIV N IR VIV PR, is
applied only to 7113°7 but not to 7137.

® The 7710 did not write JnX1AN, but rather 7337 to teach us that we can also exclude (7117) 71 717

10 The 77 wrote 7337 (and not 7nX12N), so perhaps we should only exclude (717°2) 721 113°7, but not to exclude NX1AN
731 (since the 770 did not write TnNX1aN)?!

"If the intent of the 7710 was to exclude only *121 17" (but not *121 NX12N) the P10d should have stated 1137 (not
T7137); the fact that it was written 7137 (and not 17 and not nX12n) allows us to exclude both *731 nX1an and mM»
731, [However even though we exclude »121 m7°», nevertheless we can also maintain that 731 M2 is 217 if we
subscribe to the notion that 1277 XX VIV MR VWA PXR.]

"2 The concept of M27% X9X VWM IR VIY™M X is a WITT therefore we prefer to limit it to one case only

13 See w"x Moo who writes; 17T PRI MYAwH MPWR Y POIT RAR K9K 987 932 1M MR 1IN MPIRY 12007 KT
SRIW MWN2 3973 X120 K2A1A ONPIRD 12 72nonT T L1307 The reason we are 1137 Wyan is because of a PWwh MW
(that it does not state clearly 7nX1an, but the word 337 itself does not mean 13°7), therefore we can say that it is not a
real 2% ROX 0. Secondly it is more logical to be 7X1an 2»nn that grew by a "X (regardless who made the
M) that to be PRWw> M 20 if it was grown by a >3
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Thinking it over

Once nMpoIN explains that 7137 is written twice,'* we can answer that X"1 derives
both 2>711°% (of 11 W and 70D °121 M) from the two times that 7137 is written,
why is it necessary to get involved that it does not say 7nX1an or 172!

' See footnote # 5.
1% See 7w 0" am X"wIAn.
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